Ooodn

gboooo

d
Z2(t) = Az(t) + Bu(t), 2(0) = o

O000000000000000000z()0 w(t) 00000000 ¢+000000O0O
OooooOooobobOobDOobOo0obO0o0DAD BOOOODODOOOOODODOOD

(i) DODOO0DOoOOoODoOoO0o0o0OO, =(),uw(t) 000 200000000

(i) 00 A0 BOODOODOOODOOOOOODOODOOOODOOoOoOOoODoOO

1 -1 0 0
A=[-1 1 -1|, B=10
0 -1 1 1

(i) 00 A0 BOOOODOODOODOODOOOODOOODOOOOOOOOO a4, ag, by,
b OODO 400000000 (DODODODOO)ODDOOODOO

1 a; O by
A=|ay 1 a1, B=|b
0 [¢5) 1 bg

(iv) 00 A0 BO (i)0000000000000A+BKOOODOO {-2,-2,-2}0
00000 K=(k ks ks) 00000



